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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question / part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Q1. Fr=ferfaa wvAl # & Uees &1 I T 150 Vgt ® S

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)
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yH-ETe e SRR w1 B @ ? fee et g feRa-fee ofifeufaai ®
It <t Frifira femem s wepan 2 2
What are Sweat Equity Shares? Under what conditions can these

shares be issued by a company ?

nfafafy-snafa are-fufo (i) = dd @ 2 v yoreh S
ffira wrifa =1 amels et 2 2

What is Activity-Based Costing (ABC) ? How does ABC system support
corporate strategy ?

AR NI R R 2 3@ Fay § @ F waedi B i H |

What is Interim Dividend ? Specify the duties of an auditor in this
regard.

st TeT % fu s FUR w0 § affia weEt B e #§ we
#Hifse |

Explain briefly the steps involved in preparing the budget for an

industrial organization.

AR AIFEE % TEuE F rid U & e § u g i i gfd
34t s & forelt g Eia i o | F & IuETEl B TR |

State the exceptions to the provision under the Income Tax Act
regarding set-off of loss from one source against income from another

source under the same head.
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Q2. (a)

CRNA-F-LOMA

317, 2021 € feafies ot &t fafies & gom-u9 30 yar

u fafiee () | &t fafire (3)
1 - et va e
1. surs Ay
() BT it
aferpa of
T 100 9fd IR 5,00,000 L
T 10 9fd I = 10,00,000
quiew fFrifira it 5,00,000 4,00,000
(@) 999w Afusy
PElIGR:ED 1,00,000 4
= =Y 35,000 4,00,000
2. Hy=fea i
& = g 2,50,000
rgfara o 1,00,000 &
3. e A
fafay Smer 1,55,000 1,80,000
FA 8,90,000 12,30,000
11 - afravafat
1. yyufaq sfeefaat
wrft afmfaat 4,00,000 8,00,000
£ 1c| 40,000 Sk
2. o] wREweafet
wis X 1,00,000
= 4,50,000 3,30,000
T 8,90,000 12,30,000

7 yeantaa foram man o v fofire @ <t fafiee & qamem e s =nfeu |

41 wrafaEt g Frefefe stecanstt ) wfier e mn -
() ufafres it arg *t goIEE 9= S R |

(i) ufafies & gousm it s afyr T 20,0002 |
(i) € ffire & y@® 2 90 F U H U FET 91

(1) E9ed W Pied & &9 7 ot fafies & 10 9w; 3ik
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(2)

HYH! -

IR & AMHR H GEEITTT HE & ¢ 3o+ Tt It Fe
v fafies & god-va § o U9 qous™ % E" H AEvas
GESHE % 916, gHI HHHEl % qod-9 % YR W W F
HTAfh od & IFTER AT 2 | '

(I) #wﬁwm#ﬁaﬁuﬁwm%aﬂt

(D) |uHeH % a1 %1 goq-9a (fagr) veffa +e 2 |
Balance Sheets of A Ltd. and B Ltd. as on March 31, 2021 are as

follows :
ALtd. (¥) | BLtd. ()
I - Equity and Liabilities :
1. Shareholder’s Funds
(a) Share Capital
Authorised Capital
Share of ¥ 100 each '5,00,000 —
Share of ¥ 10 each — 10,00,000
Issued capital fully paid 5,00,000 4,00,000
(b) Reserve and Surplus
Capital Reserve 1,00,000 —
General Reserve 35,000 4,00,000
2. Non-Current Liabilities
Secured Loans — 2,50,000
_ Unsecured Loans 1,00,000 —
3. Current Liabilities
Sundry Creditors 1,55,000 1,80,000
Total 8,90,000 12,30,000
II - Assets:
1. Non-Current Assets
Fixed Assets 4,00,000 8,00,000
Goodwill 40,000 —_
2. Current Assets
Stock — 1,00,000
Others 4,50,000 3,30,000
Total 8,90,000 12,30,000
4



(b)
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It was proposed that A Ltd. should be amalgamated in B Ltd. Following
arrangements were accepted by both the companies :

(i) Goodwill of A Ltd. is considered as valueless.
(ii) Arrears of depreciation in A Ltd. amounted to ¥ 20,000.

(iii) The holder of every 2 shares in A Ltd. was to receive :
(1) As fully paid at par, 10 shares in B Ltd.; and

(2) So much cash as is necessary to adjust the right of the
shareholders of both the companies in accordance with the
intrinsic value of the shares as per their balance sheets
subject to necessary adjustments with regard to goodwill and
depreciation in A Ltd’s Balance Sheet.

You are required to :
(I) Determine the composite of purchase consideration; and

(IT) Show the balance sheet after amalgamation.
¥e atvm fafiee adum # v suri smyfdeal & v Iuhtor T 30 Ufd i R
W @le @ 8 | Iyfd AfaEfiE @ % e st Frafafea g ssmE w

() 39 I9HW & Tmivr ¥ woh ord-enfora wefi wlid @ @mg W o
W T 18,00,000 I Torft @@ qwr T 12 yfa ffda v
gitad- @mTa et |

(i) =9 3UHW & 9 & [0 Uh w@eniod A3 @id T @ S | w
F 30,00,000 aTf¥es Tt wmE dur T 10 gf fiffa sy feda
AT AT |

FHE <l afieh ATEIHAT 5,00,000 IHEAT B hl HWEAT B 3N Iqh WG

AT 6,00,000 SHEAT % e I GEITEET § | 39 TETiord A1 Y- TaEfera

wef § @ fruehl e ®E 2 AT I HI AEWH TUEIH! b A

qhETd §ATST |

Great Ocean Ltd. is currently buying a component from a local supplier

@ T 30 each. As the supply is irregular, the company is considering the

following two proposals :

(i) Buy and install a semi-automatic machine for manufacturing this

component, which would involve an annual fixed cost of
¥ 18,00,000 and variable cost of ¥ 12 per manufactured
component.

" (ii) Buy and install an automatic machine for manufacturing this

component, incurring an annual fixed cost of ¥ 30,00,000 and
variable cost of ¥ 10 per manufactured component.
The annual requirement of the company is expected to be 5,00,000 units
and the volume is expected to increase to 6,00,000 units thereafter.
Would you recommend the automatic or semi-automatic machine ?
Justify your recommendation with necessary computations.

g
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(c)

Q3. (a)
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I qed w1 2 2 UF U@ whH S f6 @ v ad e w R man R, %
a1 qea i Fuffa F@ A gfsen o sgEo 2w T it |

What is Annual Value ? Illustrate the procedure of computing the
annual value of a house property which is let out throughout the
previous year. 15

T, S T B H HHET ], 3196, 2021 F GHIG B4 919l 99 6 " &
frefefiga foeor yeqa & 2 -

’
EGACE 2,88,000
TS W | 57,600
wﬁmuﬁwﬁfﬁ(aﬁﬁm)ﬁmwm 40,320
vy fify & frirer &1 sfegm 40,320
yuifora wiasy fAfY (vifie= $08) & 9w w = 28,000
Clce| 24,000

R GaTY :

(i) Wl e g B Fr &, s e aun Sen w1 gegd
=9 e 3 gram foman | R sl 9o safeg & stw % e wam
I T3 |

(i) 39 Hrawa # FRrET-gE smaE it yem fear mn, e e e
4 % 2,500 wfa A8 forn feam | 3@ s Wesite aon v araEe 99
(CRHSTR) w1 3@ & hit ufa ficht, Reh ama s
¥ 16,000 AT T 24,000 oft, =% 01.04.2020 i I fefad goa
AN T 9,000 TAT T 14,000 AT |

(i) TH &% Hffed W T 4soooo£rqa5aﬁmtrﬁ%wﬁ%§w%ﬁﬁmﬁ
T 24,000 1 Sfte sfta1 siftem gram feman |

FH-Fgior ad 2021 - 22 % o T % wArg J99 H ToET Hife |

X, an employee of a firm, furnished the following particulars of his
income for the year ended March 31, 2021 :

z
Basic Salary 2,88,000
Dearness Allowance 57,600
Own contribution to recognized Provident Fund 40,320
Employer’s contribution to the above fund 40,320
Interest on balance in recognized Provident Fund 28,000
Bonus 24,000



(b)

(e

Q4. (a)
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Additional Information :

(i) © X was provided with a small car for which the employer paid all
the running and maintenance costs. The car was used for official
as well as personal purposes.

(i) He was also provided with rent-free accommodation at Kolkata for
which the employer paid a rent of ¥ 2,500 pm. He was allowed to

use one refrigerator and an air-conditioner costing ¥ 16,000 and
T 24,000 respectively, while their written-down values as on
01.04.2020 were ¥ 9,000 and ¥ 14,000 respectively.

(iii) Life insurance premium of ¥ 24,000 was paid by his employer on
an Insurance Policy for T 4,80,000 on the life of X.

Compute the taxable salary of X for the Assessment Year 2021 — 22.

AGTHA HHH-9 & AR TR veg bl T HIfT | 37 /ST I Fasy
‘T’ wee ¥ wftifer & it Sl | o i fht @ ToRa A FE A
frerft =nfee 2

Explain the term ‘Revenue’ as per AS-9. State the items not included in

the term ‘Revenue’. When should revenue from sale of goods be
recognized ?

ITETRIE @i I ATgRon 9 fomiwarst = Tase hifse | vt S@r gomett
& @ w | fifga =i i fee=m Fif |

Explain the concept and features of Responsibility Accounting. Discuss
the steps involved in implementing such an Accounting System.

fr=ferfiga faaor v wrot & @ fepie @ fag e #
qeft : 5ME@T 5-T 25
H 49 @T 3-T 12
Sadl, 2022 TEH % N IeI1ET FRHH 7000 IHEAT T FE H AT, Falh

78 % SNF Iad § 8100 $HIIAl 1 Icqted fRAT T A1 | 40000 diE
amft & T 1,65,000 % o god W @lid 8 |

SHall, 2022 WER & Ired feeie @ FafaRega oftorm wa gw o
gmft Oift T o M H - 35800 dis, TSI W - 17200 HWR
- ¥ 59,400 |

39y Tt qun oW faret i o Hifse |
7 4
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(b)

(c)
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The following details have been extracted from the cost records of a
company : )

Material: 51bs@¥ 5 - 25

Labour : 4Hrs@%¥ 3-% 12
The production schedule for the month of January, 2022 required the
completion of 7000 units; however 8100 units were actually produced

during the month. Purchase of materials of 40000 lbs was made at a
total invoice price of T 1,65,000.

Production record for the month of January, 2022 revealed the
following :

Materials requisitioned and used — 35800 lbs, Direct labour — 17200 Hrs
— ¥ 59,400.

Calculate the appropriate material and labour variances.

AGTHT W FIERI a5 & g9E $i faa=an Hifsu |

Discuss the impact of behavioural sciences on Accounting.

quaned Tl il AW R GHT U aEiees g feen fer s o e
w fegati 1 fas=m Hifg |

Discuss the major points to be considered by an auditor while conducting
the audit of charitable institutions.

20
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SECTION B

Q5. FrferRaa woAl # & Weieh 1 I TIHT 150 5T | ST :

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)
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Yoft wftgrafa Fma-fator atea’ 1 samen HifT |
Explain ‘Capital Asset Pricing Model’. _ 10
wra # faefia geensti g wmn fpy S aretl TR uie Sifawt < |aw |
AT HIT |

Briefly explain any five risks faced by the financial institutions in India. 10
wraiy ok % areet wisa $i faa=an Hifse |

Discuss Walter’s model of dividend decision. 10
gt woied Fvls & wey § sfawa 6 ag-oriafe U h wwen H faas
HIT |

Discuss the problem of multiple internal rates of return in relation to

capital budgeting decision. 10
SeruRER! i Gufe 1 Tferan FA % v il = HI |
Explain the objective of maximising the wealth of shareholders. 10

frafafiga sifwel @ gom-um o e faawr dam A
T

(%) IR gt 9,60,000
(@) e g6 3,64,000
(M) o srfufaewd 60,000
(i) e A9 - 2

(i) cafa FUE - 15

(iii) EETHeE I - 080

(iv) @hal @™ IAE - 0-20

(v) ThY Ed I — 4

(vi) ogm9Ties o emad - 36 fem

(vi) ¥&d G5 W YG @ — 10%

M ofife fF #E emmE sRerafal o § | e shemtEl § e,
G I 3R Uhe & HAfdieh i gREmdl T8 & | At =i
YRR Wi & 20% 31U 2 | 91 &, T 9§ 7 360 fe7 wm i |

g



From the following data, you are required to prepare a Balance Sheet

and a Statement of Profit and Loss : 20
R
(a) Share Capital 9,60,000
(b) Working Capital 3,64,000
(c) Bank Overdraft 60,000
Additional information :
(i) Current Ratio - 2
(ii)  Quick Ratio - 15
(iii) Proprietary Ratio - 0-80
(Fixed Assets/
Proprietary Fund)
(iv)  Gross Profit Ratio - 020
(v)  Inventory Turnover Ratio - 4

(vi) Trade Receivables Turnover - 36 days
(vii) Net Profit to Paid-up Capital - 10%

Assume there are no fictitious assets. In the case of current assets, there
are no assets other than inventories, trade receivables and cash. Closing
inventory is 20% higher than the opening inventory. Also assume
360 days in a year.

(b) UH FFIA Al ISft wraar § Fefafea afdfaa € .

"
$fradt SRR 4Sft : (7 100 9fd =) —  40,00,000
gfaaria 3 — 20,00,000
8% fem I — 20,00,000
7% FOT9H —  4,00,000
Gl 84,00,000
Ft il faer wEEA F faaw 3 ?5000000@31@%%&1#
fore Frfafiaa famea sgomy € -

() T 253 MR Sfifrm | 40,000 I Sl w1 Fref

()  10% AftmE A v et

(i) 8% FurgAl =1 fFriae

Ig AEH TR T ¢ T 3@ I, st SR w o faedwe
feufa & fma/ema (f.4.) um #9w: 2144, 17 a1 15-7 81 |

uH AT 6wt ot $oft W 129 e el § | s B @ 50% R |
mmﬁaﬁwwﬁaﬁwmmﬂmﬁ%%qmm
e it srgeren et R |
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(c)

Q7. (a)
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Capital structure of a company consists of the following :

Z
Equity Share Capital : (Shares of ¥100 each) — 40,00,000
Retained Earning — 20,00,000
8% Preference Shares — 20,00,000
7% Debentures —_ 4,00,000
Total — 84,00,000

The company requires ¥ 50,00,000 to finance the expansion programme
for which the following alternatives are available :
(i) Issue of 40,000 equity shares at a premium of ¥ 25 per share

(ii) Issue of 10% Preference Shares

(iii) Issue of 8% Debentures

It is estimated that in the case of equity shares, preference shares and
debentures financing, the PE ratios would be 214, 17 and 15-7
respectively.

Assume the company earns 12% on its capital with the income tax rate
of 50%.

You are required to evaluate the three financing alternatives and
recommend the best alternative suitable for the company.

o1 SR 991 8 2 U fashfba gg s i fagwand s hifs |

What is money market ? Explain the features of a developed money
market.

TH FA e Faw Aeed i g v & e 7 20 wre @ srfafes faw
ST IRt B | 389% I 9w & 39T /G T 4,20,000 Sautfa 3w & w9 A
I9TeY R |
wfafen forao f=fefiaa €
G) oA s — 30%/70%
(i) 9 I AT T 3,60,000 T — F A @@ 10% ;
¥ 3,60,000 % &G — N & T@ 16% B;
Gii) vfo AW 3T T 82
(iv) ST YA 3T % 50% 2
(v) & H Iafda gfg & 10% 2
(vi) wfd S <] IR g7 T 88 %
(vi) & 2 50% &
et Hfafer fod Jem &g wfoww, sifafes o it soavemq sftwa @rm,
wfaenita 1 it AT aun wwar Gt (3fadt) i @ # Fufor s

Ffafen fod ot swt-avarq waw wwifera fwa wmma 6t omr oft i |
/]

15
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(b)
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A company wishes to raise additional finance of ¥ 20 lakh for meeting
its investment plans. It has ¥ 4,20,000 in the form of retained earnings
available for investment purposes.

Following are the additional details :
(1) Debt/Equity mix — 30%/70%
(ii))  Cost of debt upto ¥ 3,60,000 is 10% before tax;
Beyond ¥ 3,60,000 is 16% before tax;
(iii) Earnings per shareis ¥ 8
(iv) Dividend payout is 50% of earnings
(v)  Expected growth rate in dividend is 10%
(vi) Current market price per share is ¥ 88
(vii) Tax rate is 50%
You are required to determine the pattern for raising the additional
finance, the post-tax average cost of additional debt, the cost of retained

earnings and the cost of equity.
Also compute the overall weighted average after-tax cost of additional

finance. 20
It fofiee & f=fafiga d@fta Fee @@ @ 31 7€, 2022 it FoTE B9 I
T4 & U d@eT AF®-3 % JFER Ty fafy § Uwe v faaor daw
i |

wfere Jeg @t
(31 9T, 2022 ® TUTH g a1 99 & o) (2 2000 )
T T
01/04/2021 F 3§ 100 | 3mafderatati @t e 4,000
Wmﬂﬁ"hﬁ 600 quﬁ?ﬁiﬁ'@'ﬂﬁ 400
TRl | et 5,600 | 3UT=Ed 400
e ierafeai i foasht 200 | F9GH T dad 200
T - 500
AT 100
S T HT GAYTAA 600
31/03/2022 i Y 300
6,500 6,500
g
HEGHT < T HS Fohe HAGeAAl T8l @ |
V4



(c)
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From the following Summary Cash Account of Z Ltd., you are required
to prepare Cash Flow Statement for the year ended March 31, 2022 in

accordance with AS-3 using the Direct method. 15
Summary Cash Account
(for the year ended March 31, 2022) (Z in ’000)
T %

Balance on 01/04/2021 100 | Payment to suppliers 4,000
Issue of Equity Shares 600 | Purchase of fixed assets 400
Receipts from customers | 5,600 | Overhead expenses . 400
Sale of fixed assets 200 | Wages & Salaries 200
Taxation 500

Dividend 100

Repayment of bank loan 600

Balance on 31/03/2022 300

6,500 6,500

Note :

The company does not have any cash equivalance.

m(ﬁﬁz)wh?wam%?%mmaﬁaﬁ;ﬁaﬁm
i |

What is corporate restructuring ? Explain the techniques of corporate

restructuring. 15

4



Q8. (a) UM fafiRs & =aWR® 3 W @@ @ gea-93 & weu f=fafea
AT 8 39! IRETEH 956 et H T FET R

TR & ATH-ZTH @rat

(31 wT, 2022 ' GHTA T AT A4 * forw) (T R H)

T T
AR W : fashi : 640
HAT 7T o8 | <M Wi :
ot wrt 60 | =N WA 39
LRSI 40 | Fmionda + 80
| 480 | NIR A 60
Hglt 50
Fwior = 30
Tehel &1 124

812 812
FRATAT UF YIES T 32 | g%d AH 124
fosht wa faeo =7 16
s ™ 76

124 124

g7 (31 W, 2022 ) (T 7 /)

e T | hewfEr z
IR Gt 600 | i W& wad 300
el 320 | 9% wd W 480
o9 TF I @ 76 | RT®
TER 84 | I HA 32
Fotonea wr 80
TR 9 60
SR 104
ECd | 24
1080 1080
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SR G :

(i) SRl 1 Afw A TR F IR AT ¥ T 8 W@ R 2 |
(i) SFERI 1 IR Ay T 24 oG R |

(i) 3T 3R fosFa Faer IUR & mur W fve o )

From the following information as contained in the Trading and Profit &
Loss Account and Balance Sheet of X Ltd., you are required to calculate
the operating cycle period. 20

Trading and Profit & Loss Account
(for the year ended March 31, 2022) (¥ in lakh)

< T
To Opening Stock : By Sales 640
Raw Materials 28 | By Closing Stock :
Work-in-Process 60 Raw Materials 32
Finished Goods ' 40 Work-in-Process 80
To Purchases 480 Finished Goods 60
To Wages 50
To Manufacturing Expenses 30
To Gross Profit 124
812 812
To Office & Administrative Expenses 32 | By Gross Profit 124
To Selling & Distribution Expenses 16
To Net Profit 76
124 124

LRNA-F-LOMA 5



Balance Sheet (as on March 31, 2022) (¥ in lakh)

Liabilities T Assets 5
Share Capital 600 | Land & Buildings 300
Loans 320 | Plant & Machinery 480
Profit & Loss Account 76 | Stocks :
Creditors 84 Raw Materials 32
Work-in-Process 80
Finished Goods 60
Debtors 104
Cash 24
1080 - 1080

Additional Information :

(i) Closing balance of debtors is ¥ 8 lakh more than the opening
balance of debtors.

(ii) Opening balance of creditors is ¥ 24 lakh.

(iii) Purchases and sales are made on credit basis only.

b) T 29 % e e & A Fohi hit yftem Hi fas= Fifse |

Discuss the role of commercial banks in the economic development of a
country.

(© wifferh w fier gied (TH WS WA Higd) % IFER F-GUE WiHAT H
e I |
Explain the Arbritrage process as per the M&M Model.
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